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(1) 5(x+8)—3x=-2 (6) 3.52—0.7=2x+2.3
SX+Y0-3X= -2 35X -7 = 20x +23 1o
2 = - %2 15x = 30
S X =2 X=2

(2) 6(2z—3) =9(2z +2) (7) 0.5z 4 0.15 = 0.65 < 100
12X =18 = 18X + 18 500 + 15 = b5
-bx = 36 50X = 50
X =-b L x=

(3) 10— (4—5z) = 32 @)§w+%=% 6
10 - 4%+ 35X = 3X yx+| =9 )"
S X - 8
X = -3 e,

X X

(4) 7(x—2)—5(2zx—1)=3 ) w5 *t30 =
TX =14 — 10X +5 = 3 3x 4 5c = 600) 150
T3 =12 SX = 600
X =-U L= 75

(5) 2.5x—0.8=2.1x+0.4)x/o(lo) 296;1—9[’;1 —1 »
250 -8 =2|x +¥% L/(zr+/)-3(z—/)=/2) /
X =12 Sx+4-3r+3 =
L X =3 5X =5
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